
HW 2 (A) 

Example screen shot: 

 

Here are the original image, the equalized image in grayscale, the original histogram and 
its cumulative histogram (not required), the equalized histogram and its cumulative 
histogram (not required). Note that in this (discrete) case the histogram equalization does 
not create a flat histogram (due to finite available gray values), but the cumulative 
histogram is a ramp function as expected. 

 

 

 

 

 

 

 

 



HW 2 (B) 
 
Example screen shot: 
 

 
 


